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Tostructions :

Da not open this booklet until you are st neted 1o do so.

Use ol caleulator, mobile phone or iy other electionic device s strictly NOT allowed

Carefully (Il-in your correet Roll Number aned correct Question Paper Booklet Series in the OME Answar sheet and

darken the corresponding bubbles tailing which the ¢ IMIL pnawer sheet may not be evaluatsd,

4. Handover the OMR answer sheet to the invigilator aller the exantmation is over,

& The question paper comprises ol TWQO PARTS : In PART-A there are 50 multiple choice questions and in PART
B there are 100 multiple choice questions. Select the right / appropriate choice [rom the options given in each queshon
lach correct answer will carry one mark, Maximum marks for the PART-A are 50 and for PART-B are 100, PART-A
is common for all candidates and PART=R is specific to the subject the cundidate has opled for,

6. There.is NEGATIVE marking in the question paper, 0.25 marks will be dedycted for ench wrong answer.

7. Time limit for the test is 2% hours (150 minutes).

8. Do not fold / spoil the OMR answer sheet. Do not make stray marks on the OMR answer sheel.

9, Tor rough work, the space marked ‘Rough Work® at the end of question booklet may be used.

10, OMR Answer Sheet is not to be taken out of the Examination Hall, Any candidate found doing so would be expelied from
the examination and the matter will be reported to the police.

11. Kindly check your question booklet and OMR answer sheel before starting answering. Make sure that no page or question
is missing from the question booklet or the OMR answer sheet is damaged. If any defect is found in the guestion booklcl
or OMR answer sheet, the same should be got replaced from the invigilator within 10 minutes of the start of examination.

12 Please note that the paper is bilingual, hence efforts have been made to translate in Punjabi language from the original
paper which was finalised in English language first. In case of any doubt in Punjabi version of the paper, candidates are
expecied to look into the English version of the paper which shall be considered as final for the evaluation purpose.
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PART - A ]

Bluetooth is o wireless technologs: [
BY

a) local area network
b) personal area network

SUTE_ aRAN Th NG § |

¢) metropolitan area network
d) wide area network

a) bl TRET Yead ¢) Pretufferet uRar Jead
b) Tt ok Yeads d) 9158 URE Fead
Unauthorised access of information from a wireless device through a bluetooth connection is called -

a) bluemaking b) bluesnarfing c) bluestring d) bluescoping

wﬁm%w%mﬁﬂmﬁmﬁ&ﬂm@aﬁmm?:
a) SEARET b) STRIfH ¢) TR d) seRBIfi

3. Which of the following is defined as an attem pt to steal, spy, damage or destroy computer systems,
networks, or their associated information ?
a) Cyber attack b) Computer security ¢) Cryptography d) Digital hacking
m@aﬁ%mmm,mmmmmﬁmﬁ, S B, efferr
A AT A F WA T F oRefe R 2 0
2) WER e b) ST W& ¢) fprme d) fefores Bfdm
4, Which of the following is NOT a cybercrime ?
a) Denial of Service ¢) Malware
b) Man in the Middle d) AES(Advanced Encryption Software)
Froferfa & & o wr age s 78 2 2
a) Qa1 q TR ¢) AT
b) e ) AES (a8 Uhw dired)
5. Input devices, that use a special ink that is used for converting pictures, maps and drawings into -
digital format :
a) Digitizers b) Digital pens c) Light Pens d) MICR
&7 IYANT H
wﬁe,;g%ﬁwmmmgm%mm%:% Rieet Swat R, et ol Yot 1
a) f3frTRR b) fSfore 97 ¢) Tge U d) MICR
6. Which is NOT in MS Word ?
a) Italic b) Magic tool c) Font d) Bold
I AT TR
a) gefor® b) Af® Ta ¢) P d) dre
7. Which one is NOT a function in MS Excel ?
TH UH TRd H B H HaRH TE @ 7
a) SUM b) AVG ¢) MAX d) MIN
Maths-Hindi-Part-A+B Set-C

Page - 2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda47]

8. Which afithese PowerPoint featres would allow any user to create a given simple presentation
quicker ?
a) Animations b)Y Chart Wizard ¢} Transition Wizard d) AuwoContent Wizard
78 I B W dlavuise PR felt ft Sudied B & 1 wRer v @ ot @ 3l
am?
a) TR b) =T fawe ¢) i~ fawme d) 3 dee R
9. Wlich of these is a tvpe of sound file ?
a) DAT files b) LOG files c) DRYV files d) WAV files
T I B U WSS BIRA B ISR 2 2
a) DAT BI3d b) LOG BIgd c¢) DRV BIEd d) WAV B3
10.  What does G means in 5G ?
a) Global b) Generation c) Grade d) Gigabytes
SGH G &1 R Adeid & 2
a) TdEq b) ARIH ) IS d) rmeETseH
1. The process of removing unwanted part of an image is called ;
a) Hiding b) Bordering ¢) Cropping d) Cutting
Bfd & Saifsa um 31 8ol B vfpa sead &
a) BIRIET b) SrerT c) ST d) ®feé
12. A block of text automatically added to the end of an outgoing email is called an/a :
a) Atachment b) Signature c) Decryption d) Encryption
SIS $0eT & 3fd W W &0 F Wik 7Y 2 3 st ) el oTel 2
a) eTHe b) RERR c) f3frmm d) TAfpwE
13.  Social communication tool of ICT is -
a) Twitter b) MS Word c) Antivirus d) Notepad
ICT®I____ 9o YR IS0 |
a) fgex b) THTH a8 c) Tlarawy d) s
14, In which level of teaching, the learner gets an opportunity to discriminate at length between positive
and negative examples of concepts ?
a) memory level c) reflective level
b) understanding level d) autonomous development level
R & 59 TR W, Rerlf &) sr@uronshi $ gormers IR THRIHS ITeR0N F drg R F
SR B BT AT Herar e
a) THR dad b) G dad o) Riffeadaa  d) s e dag
I5.  Black-board can be included in which group/category of teaching-aids ?
a) Audio-aids b) Visual-aids ¢) Audio-visual aids  d) None of these
a%aaﬁéaﬁﬁrmwmasﬁmw@uﬂﬁmﬁmmm%?
2) ST b) fagsrm-ugw o) HSMRAGPICTET o) THAPE A
16.  In pedagogy computer is used :
a) to motivate the learner ¢) to interact with the learner
b) to provide feedback d) all of these
Maths-Hindi-Part-A+3 Set-C
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fonegu) 27 H Foge &1y e I 2 “ _
) foemif 2 fva w73 & form ¢) Rl & T amdia 733 & fog
by wfafEa gzm w73 & fom d) IR Wit

A teaching approach which attempts to hielp students to question and challenge domination and the
beliefs and practices that dominate is

a) inductive approach  b) heuristic method ) critical pedagogy  d) deductive approach
e e SarTH o B @) a9 O HaTE So 3 A 23 3l 37 8 are R iR waai
Y FA B AT, 3

4y HMETEE TYEw b ReRfRE R o) REeTes R ) FEaEs e
L.earning is a continuous process from :

a) adolescence to death b) childhood 1o old age c) infancy to adulthood d) cradle to grave
divg v Faa viwan 2 -

a) fPEUREI AL TF b) THIGEN a5 ) VI Y ITDHA IS d) U A B D
Effectiveness of teaching has to be judged in terms of :

a) syllabus coverage c) use of teaching aids in the class room
b) student’s interest d) learning outcomes of students

fPresor 1 mrafieran =1 Fm & wof § sim o ol

a) UISTHH HaI9 ¢) @41 8 feu vgae It 1 3udm
b) B P dy B & 18 & TiRong

Which of the following statements is NOT true ?

a) Growth is a biological process. ¢) Education is a goal-oriented process.

b) Development is a quantitative process. d) Leaming is a process of behavioural changes.
fefefad s arsusaadiz?

a) 3f& & s vfrm ? | c) e oo aedrad ufea |

b) faeTe 0F AEers wiEam g dy drg aER uivad= &) te wfepar s |

Which of the following is NOT the tool for formative assessment in scholastic domain ?
a) conversation skill b) multiple choice question c) projects d) oral questions

PraferfEd & & 17 31 2@ 47 FRora@ (formative) Telis &1 STR0I T4 & 2
a) GIadrd I b) @AGAAUY ) TG d) Aife® uy

Which type of evaluation identifies learning deficiencies and difficulties of the learners ?

a) placement ) b) summative c) continuous d) diagnostic
fors ner &1 gt el @1 9k o) sl o4k Sfeedl @ ugam s 2 -
a) BT b) FHfea ¢) PR d) SRS

Both the chronological age and the mental age of a pupil is 7 years. He may be classified into which
category 7

a) below normal intelligence ~ b) normal intelligence c) superior intelligence d) genius
UF BT B HIAH D (chronological) A1 AR TS g a1 7 39 ) 33 fvw okt & wrffgq
faran o w8 7

a) IHA & G A b) G o) TR IE dy TRt
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Which of the followmyg statement repgarding assessment 10 the context of the National Fducation

24,
Policy (NEP 2020 is correct 7

a) NEP 2020 encourages the use of summative nssessment,
b) NEP 2020 proposes testing the students objectively through standard tests.
¢) NEP 2020 proposes comprehensive assessinent ol stidents using a variety of methods imcluding

portfolios and role plays.
d) NEP 2020 encourages teachers lo prepare report cards specifying comparison of students with

others.
!TETHﬁ’rEﬂ‘fﬂﬁ(NnP2020;$ﬁaﬁﬁ&mé€ﬁﬁuﬁﬁgﬁ’ﬁﬂﬂﬁéaﬁ?mmwév
a) NEP 2020 TNTIES(summative) Hedid & JUa & dregifed 8

b) NEP 2020 @ GH&0R % e @ SrH &) Freges &4 A Teqr &3 &1 YEdrd Bl 2|

c) NEP 2020 TR 3R & wfeq R alie! o1 Judn #Xd BH & TUE Jeais 6l

PESICE RG]
d) NEP 2020 e 31 o6 @ g6l & W gern Ffde e gy Rt &78 dur a3 & fag

vieETed SRl Bl

Find out whether there is any grammatical error or idiomatic error in the sentence given below. The
error, will be in one part of the sentence. The number of that part is the answer.

Our Chairman is deeply concerned (a) / about the environment (b) / and plans to take some steps (o
reduce the (c) / pollution caused by our factories. (d)

Choose the set of words for each blank which best fits the meaning of the sentence as 2 whole.

25,

26.
They changed a few criterion in recruitment process.

a) Has, our b) have, their c) can, a d) had, an

Which of the phrases given below should replace the underlined phrase in the following sentence to
make the sentence grammatically meaningful and correct ?

In order forget his worries Rahul take to smoke day and night.

a) took to smoke b) taking to smoking ¢) taketo smoking d) took to smoking

Select the lettered pair of words which have a similar relationship to the given pair of words.

27.

28.

Bereaved : Condolences
¢) victorious : wealth

a) guilty : accusation
d) destitute : charity

b) robbed : insurance
29. Change the Voice of the given sentence.
May [ take your pen ?
¢) May your pen taken by me ?

a) Your pen might be taken by me.
b) Your pen may be taken by me. d) May your pen be taken by me ?

30, EE aEN ard g &1 I ST
» a) TAHA b) URERS ¢) faasm d) drepIfeis

31, Fymfidl & @ @ 1 e SAERV 8 ?
a) f: + yror = Aoy b) ﬁ:+ﬂ?=ﬁ€h c)ﬁ=+w=ﬁw d) 2 + g = AR

3. AAEHT Ws W AT € ?
a) HHIRY b) f& ¢) AqgEY d) rqEdHE

33, <SHTHY F1RAEH T PR ?
a) b b) f%qug 0) ferameror d) YHY

Maths-Hindi-Part-A+B Set-C Page -5
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34, T YA BT HUSK ¥ 5 A & o U@ wieg &4y |

a) YaTae b) YT ¢) ¥ {g=U d) Y&

35, o fosfior fed o e AT e -t LR RO S Y
a) SHAE, THED b) aHHE, &HIT c) THAWE, SHET d) aHAE, HHET

36, ‘FroaE v o fefsam feg Torea Aahm T HoEst @ i wier 31 fer v few yr a7 O
a)Fr'H’uaq’? b) sU=g ¢c) gafmit d) fefsam

37. o @ fen 33 feg fF B2, €9 Fe-32 o v g e 9%’ fen o few Aduesa uFse 4 ¢
a) fem b) 83 c) frga d) ¥e

38, ‘TEEWEET HoRI THEE T
a) I3 & gfge b) FEt o9 IT ¢) BUEt IT d) 3Felts M@z

39.  Which disease is caused when a person is infected by ‘flavivirus® and transmitted by Culex
mosquitoes ?

a) Dengue b) Japanese Encephalitis ¢) Malaria d) Chikungunya
ST PIE e TR Weh T B1er & SR TRy sl G el § O B W1 M BT R 2
a) 3 b) WU TRAwaRied c) Hafar d) Rrefran
40.  What was the theme of ‘International Mountain Day 2022’ ?
a) Climate Change and Mountains ¢) Protect Mountains
b) Women move mountains d) Mountains are Monuments
SRV g e 2022 Y Haar ot o
a) TARHC I VS A< 19 ¢) UK A9
b) gHA I AZ=<9 d) A=Y 3R ARgH=<
41.  Thang Ta is a martial art of which Indian state ?
a) Sikkim b) Manipur ¢) Assam d) Odisha
YT A WS & o g @1 Arefer o R
a) Rifdpn b) HOR ¢) 3N d) Sfsm
42.  Which of the following units is the smallest in terms of length ?
a) micron b) nanometer ¢) fermi d) angstrom
mﬁw%mﬂﬁﬁ.ﬁmmm%?
a) HIgPIA b) ez ¢) wrf 4) TR
43. A water tank has three taps A, B and C, Tap A, )

Band C ind tap C, when opened, can
it take to fill the tank completely ? » 2 and L are opened simultaneously, how long will

_ B B 6 W o
a1l O 7 3R 74 ¢, o9 @l
aﬁt;qmﬁ?ﬁ?qﬁquﬁ Wl R THa 2| f 7 o B3R Cc @y @aos @
a) 10 h b) 8k ¢) 18h “@) 12 h
Malhs-Hindi-Paﬂ-MB Set-C #_-
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44,

45.

46,

47.

48.

49.

50.

) 1:3 b) 3:4

What should come in the following number series al the place of (7) ?

Fyaferf@rd wrwar shae 7¥ () & i1 oR aer e Aifey v

625, 500, 564, 537, 7

a) 380 "/l‘)) 345 c) 586 d) 601

In a certain code BREAKTHROUGH is written as EAOUHRBRGHKT. How is DISTRIBUTION
written in that code ?

@ B B F BREAKTIROUGH B ENSUNRBRGHICT Rran oman 21 9 @re amm &
DISTRIBUTION &Y ST & 2

a) TISTBUONDIRI b) STTIBUONRIDI E{ﬁTI_[E}__U[_)_IONR[ d) RISTTIBUDION

Ram walks 10 m south from his house, turn left and walks 25 ;n, again turns left and walks 40 m, then
turns right and walks 5 m to reach the school. In which direction the school is from his house ?

a) South-West b) North-East c) East d) North

W IR TR 10 HeR fdOr F AR T 7, 91 g 3 R 25 HieR Taqdn 8, R F 4 g @

%htwa;ggmm%ﬁﬂmm% 3R ®pd Uga & fy 5 ey 9aar 81 S9% W @ ol fbe
?

a) Glam-ufdy %) IR-gd c) id d) I

A and B can independently finish a piece of work in 36 and 45 days respectively. They started

working together and after few days A left. After that B could finish the remaining work in 36 days.

After how many days of working together A left ?

A R B G0 &Y 8 HA: 36 AR 45 G 7 U HTH QT AR IS &1 S0 U TNy HTH S L&

foar ok F© 31 F T12 A FFW IS a1 IuSF 912 B A9 HH #l 36 RA T I FHaA1 81 T

gy B A F e Rl S ag A s Blg earg »

A 4 b) 6 ¢) 12 d) s

The perimeter of an equilateral triangle is 21 m more than perimeter of square. If the respective ratio
between the side of the triangle and the side of the square is 9 : 5, what is the area of the square ?

Ue gHaTg Bye &1 oRAm o+ & o § 21 Hiew siflie 71 afk fngst & st iR o &
o Tefira U 9 ¢ 5 8, ot @l 1 GABa I 2

a) 25 m? b) 225 m? ¢) 625 m? d) 144 m?

A circular copper wire of radius 35 cm is bent to form a rectangle. If the length of the rectangle is
more than the breadth of the rectangle by 26 cm, then what is the length of the rectangle ?

35 om FIT 910 U@ TAPR diA & AR I Ueb 10 &9 & FT Wiet T 31 AR oy 1 g
3 P ASTE V26 cm 31 ©, A SHTIT DY d9TE FTG 2

a) 72 cm b) 64 cm ¢) 76 cm «d) 68 cm

In what respective ratio, rice of Variety A worth Rs. 36 must be mixed with rice of Variety B worth
Rs. 48, so that the new mixture (of both the varieties A and B) is worth Rs. 45 ?

b 3rurd &, e A &1 A1ad (36 TUU ) BT B 6T & =ae (48 3T Hed) & A e o1
a1y, aifds a1 Ay @11 e A 3R B ®1) 45 TUY & 10 81 2
c)4:5 d)y 1:2
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PART-B

1. The linear programming problem ;
Maximize z = xy+4x; + 3x4
such that 2x; —x; +5x3 =40
Xy + sz =3 3x3 = 22
3x1 +x2 + ZX3 =30
X, X2, X3 20  has

a) an unbounded solution b) feasible solution ¢) infeasible solution d) optimal solution

R urnfm (linear programming) ¥H¥T :
AHUHAT z = x; + 4x; + 3x3
@T%ﬁ?hl — X3 + 5x3 =40
X1+ 2x; —3x3 2 22
3x; +x; +2x3 = 30
Xy,X7,X3 20

a) US SHifHa qHuH b) SHTFHUM  c) EHT FHIUH d) gataq T
2. The maximum value of z = 10x + 15y subjectto 2x +y < 26, x + 2y £ 28, y ~x < 5and
X, ¥ = 0 is obtained at :

a) x=8, y=10 b)x=6y=1 c) x=6, y=10 d)x=8 y=8

z=10x+ 15y &1 HUGTH IR, N 2x+y <26, x +2y <28, y—x < 53R x, y = 0F 3427
U Rear San g, §

a) x=8, y=10 b) x=86, y=1 c) x=6, y=10 d) x=8 y=8
In the iteration of simplex method, if ; — ¢; = 0 for all j, then the initial basic feasible solution is :

a) Not a solution c) An optimal solution
b) Not optimal solution d) Solution but not optimal solution

Rty fafa & gRgRi 4, 3l 7 - ¢ > 0 Wit F Rrg F urfire g sraedd wmu= 2 -
a) YT el c) U GaraH THTHH
b) FaATaH T &Y d) T & A= watam garer 78

L.P.P’s involving artificial variables can be solved by using :

a) Simplex method ¢) Two-phase simplex method
:b) Graphical method d) Convex method

L.P.P. & HAT I &1 ITANT HI 8 (b1 o WPl & -
a) Ficiag fafy b) Mfhma fafy ¢) Q-Roy iy fafy

5. The optimality of the given transportation problem is checked by :

d) Hiaed Ay

a) North-west comner rule  b) Row minima method c) VAM
TG SO #t Y gRI1 G B Sitg A AR R -

a) IWR-UFIT &F &1 fFAam c) ITH(VAM)

by 3 Py fafy d) T 3 $1$ (Mopy) fafy
If n is a natural number and n® is odd, then which of the following is NOT True ?
a) n is odd b) n?is odd v’¢) n* is even

afE n T Uigfas Gen 2 3R o favn }, A Fm Ao @ 982
a) nfwm 2 by n’ fm c) n*¥H § d) S (a) AR (b)

d) MODI method

d) Both (a) and (b)

Z Magm#Hmﬂ&Paf*h*B/ﬁ") ge. [o- /Se}—c {é—% lo L R*2° [ Page -B
A _n\.‘/ . Q,/'.___/ i ‘&"\{J“’/‘_} _.;’ ﬁ:f—,__ 4 f i‘: Se} }6 per



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda47]

7. How many digits are there in 21 when it 1s expressed i the decimal form 7
QR W 9 s U W g e A e ofas @ g
a) 3 b) 6 ¢) 7 “U) 8
8. Let mand n are whole numbers, I m" = 121, the value of n™ 15
mmﬁm M qﬂmﬁ%’l MR m" = 121, A" BFIAFS :
a) §12 by 1024 C) 2048 dy 4096
9. The number of prime numbers dividing 2005 is :
2005 @) AW HIA areh IPUTST TV (prime numbers) H T
a) 5 b) 4 ¢) 3 -4 2
10. Number of different words that can be formed using the letters of the word ENTERPRISE is :
ENTERPRISE Reg % 31&RY T SART Xeb a1 off et aTe fafirs v &) S e -
a) 5040 “b) 302400 c) 3228800 d) 3628800
11.  Three cubes whose diagonals are 6v/3 cm, 8v3 cm and 10v3 cm, are melted to form a new cube.
The length of the diagonal of the new cube formed is :
o o s el 63 9, 83 A 3R 10v3 I &, ) Ry Uep =ar 9 S el 61 7Y
TS Apv H das & -
a) 10v3 cm b) 11V3 cm ) 12V3m d) 14vV3 cem
12.  In solving a quadratic equation of form x? + ax + b = 0, one student took the wrong value of a and
get the roots as 6 and 2, while another student took the wrong value of b and got the roots as 6 and
1. What are the correct values a and b respectively ?
x? +ax+ b= 0% U P U fGurd S (quadratic equation) BT TF & B, TH BH A a DI
T A R SR T 6 3R 2 & w0 F Wi o, e e o 7 A b %1 Tad A fan R
ETH B! 6 3R 1 F =Y A UG a1 | HHX: o AR b S Gl AH (8 ?
a) 7;12 b) —3; 4 o 12 d) 3;4
13. The statement (p = q) & (~pAQ)is:
a) Tautology c) Neither tautology nor contradiction
b) Contradiction d) Both tautology and contradiction
FUT (p=q) & (~pAQT:
a) IS (Tautology) ¢) T a Adrarn 3R 7 & e
b) faRIUTHT (Contradiction) d) Sreraet R faRurvrg 31 8
14.  The statement p - (q — p) is equivalent to :
YA p - (q = p) THH WERE:
a) p~>(pe-q bp-(p—-a op-(pvad dp-(pAQ)
1S.  For the Euler phi function, the value of @(12) is :
e TS GaRT (Euler phi function) ¥ [T ¢(12) SIHAR:
a) 1 b) 2 c) 3 d) 4
16. Let T be the linear transformation from R® to R® defined by T(x,y,2) = (x +y.y + 2,z +
x) VY (x,¥,z) € R®. Then :
a) rank (T) = 0 and pullity (T) =3 c) rank (T) =2 and nulli_ty (M=1
b) rank (T) = | and nullity (T) = 2 d) rank (T) = 3 and nullity (T) =0
7 P
Maths-Hind!-Parl-A+B —_— L Page -9
1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24

GET IT ON

Google Play

RRAARU Ty, 2) = (x4 vy + 2,2 + x) ¥ (x,p2) € R GrRIaRia g2 AR TH T D
afad gl fose .
a) 3F (1) = 0 M nullity (1) = 3 ¢) Y& (1) =2 M nullity (T) = |
b) ¥& (1) = 1 3R nullity (T) = 2 d) @ (1)=3 IR nullity (T)=0
17.  Let G be a finite group contains an element of even order. Which of the following statement is TRUE ?
a) The order of G is even. ¢) The order of G is prime number.
b) The order of G is odd. ¢d) The order of G is irrational number,
A ART G ue uikfia wigg €, Rl ve su 10w aw @) Poff@a ddsm e aa g
a) G P TS TA ¢ ¢) G ] ST M H&AT ¢ |
b) G &1 TSR AwA B d) G BT 33 3ufeay Temn B
18.  Which one the following statement is TRUE ?
a) Exactly half of the elements in any even order subgroup of S; must be even permutations.
b) Any abelian subgroup of S5 is trivial.
¢) There exists a cyclic subgroup of S¢ of order 6.
d) There exists a cyclic subgroup of 55 of order 7.
PoffEad PR o aa’?
a) S, ¥ fd Wt 1 Iuasg A 9 &1 faegpa snur waufad= o e arfge |
b) S, B BIS I TR ITTE T (trivial) ® |
¢) M 6% 5, BT TH TP ITTE AL ¢ |
d) 3SR 7% 5, BT TP Tb1T IUTHE HoG ¢ |
19.  Anideal M # R in aring R is maximal ideal of R. If U is an ideal of the ring Rand M < U < R,
then :
fhmqﬁ'waﬂaqm + R, R®1 Afpan amexiR1afle U R R 3R M c U c R, FTTH JET R,
ayM=U=#R by M=U=R c) Either M =UorU =R d)M#U#*R
110
20. The distinct eigen values ofthe matrix |1 1 0 | are
0 00
FR Ru m At F RRT eigen 77
7)1 ¢ b) 0; 1 c) 0; 2 d) 1; 2
21. LetV = { (xl,XZ, ...,Xzo) = RZO =Ky = 1" =Xg and X2 + X4 + Xg + -+ X190 = O]Then .
gy = { (x1.%2,....%39) € R20; X =Xg =+ =x93?|?x2+x4+x6+ X9 =0} 1 @
a) dimV = 2 b) dimV = 3 c) dimV = d) dimV =5
iy 1% Lac-
22.  Theequation : x — — = 1-—— has: |
/a) one root b) no root ¢) two equal roots d) infinitely many roots
ﬂzﬂaﬂmzx—;f—l= 1 _x-z-_1 Gl % :
a) U@ 7@ b)a»‘ﬁ‘q:erﬂ'e!’f o) A WA d) uRkfig ¥U A 3e um
13,5 | 1357
23.  The sum of the series : 1 + + + = -+ T T Rk
. 1 135 | 1357
FEEA 1+ + =424 =g —— AW R
a) V2 b) V3 c) \E 4 [+
3
P
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Which of the Tollowing is a group !
c) Natural numbers with addition

d) Non-zero integers with divicion
faff@a A ¥ 7 @ W GE (group) &7 '
a) UTTd & iU R c)@’s’%ﬂlﬂﬁ@ﬁmmﬁ

b) OIS & TUR d) fvmem & Y Ry guifes

a) Rowith suburactnion
by Rowith addition

The Maclaurin's series expansion of sinx is :

25,
sinx BT Maclaurin 1 4@l fawr g:
x2  x' xS x 23 x5 x?
a)l-'z—é'i‘ 4—!‘“6—!61- ......... c);-as -s-t-s— ;?-{-
X x X X x X X
b) 1+ Prin il Sl U d) i E+ TR
: 26. If u= xztan"“;’ —yztan'li , then :
afE u = xztan‘l—i— —yztan"li ,an
Pu _xtey! Fu_ gyt o _x-y u_xty
a) dxdy x?-y? ) dxdy x?+y? ©) axdy x+y ) axdy x-y
27.  Which one of the following is TRUE about the curve a?x? = y*(2a—1y) ?
a) The curve is symmetrical about x-axis. c¢) The curve meets the Y-axis at origin only.
b) The curve has two asymptotes. d) There is a cusp at the origin.
TP a2’ =y (2a—y) PR PRI IFTWMITR 2
2) T x-3& H WY FAT B ¢) 9% daq 4o fig W y-3i&f ¥ fiyerar )
b) 3% T & F-aeqdl @ Bt €1 d) 590 A 0P U (cusp) &
28. The volume bounded by x> + y2 =4, y+z=4andz=0is:
AT, W a? +y2 =4, y+2z=4 HRz=0TRRIT B
a) 167 b) 87 ) 2 d) ‘-;-n
29. The function f(x) = |x| Vx € R is:
a) differentiable everywhere
b) differentiable at x = 0 and has minimum at x = 0.
¢) not differentiable at x = 0 and has minimum at x = 0.
d) an increasing function.
HeRH f(x) = x| Vx e Ris®: |
a) B SI1TE HAT1-37aAT] ¢) x=0 UX 3AHAIY eI § SR x=0 W ZAH R |
b) x=0 TR GHTAIY R x=0 WGAGHAT | d) TP gl g3 B |
4x+3, ifx#2 . _
% lLa f(")={ 12, ifx=2 ° Then lmfG)=
4x+3, ifx#2 . _
ufzf(x)={12, ifx=2 A lim f(x) =
a) | b) 8 c) 10 “d) 11
— . 1-CosX _
31.  The value of}!Lna wlog(ion) 8 equal to ;
1~cos X )
,!l_.r?} xlog(1+4x) " W% ’
a) 1 h)% c) 0 d) log 2
Set-C Page - 11
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For the function f(x) = x + % x € [1,3], the value of ¢ for the mean value theorem is
WaR f(x) = x + i X e(1,3] ¥ fag, e T WEA (mean value theorem) %ﬁﬁﬂ ¢ @l W%:
a) | b) 2 c) VE] d) V2

The Taylor series generated by f(x) = e* atx = 0 converges o f(x) for :

0 = X Tk = 0GR I TaR yaen & g r(x) A AR S 2 :

a) ~l<x<1 by —1<x<1 ¢)0<sx<1 4} “woyan

fad
s

34.  The maximum value of xy subjecttox +y = 8 is:
x+y=8% I xy FTHRFHIA T :
a) 8 /b 16 c) 20 d) 24

35. A goat is tied to a corner of a square field side 21m with a rope of length 14m. Find the area (in
sq.m.) of the square field that the goat cannot graze.

% S8 B 21 Hie Yo o TR A & Th 1 Y 14 Hiex ofdt Tl J gien mar 8 1 I AfbR
Wd BT A% (@1 Hiex H) F1d S, B 968 R 781 gepelt |
a) 250 b) 260.50 ¢) 275 - d) 287

36. ABCD is a square of side 20m. What is the area of the least sized square that can be inscribed in it
with its vertices on the sides of ABCD ?

ABCD Us T 8, @ @t 1o 20 i ® | 6o B HHR & a7l &1 850 &1 3, o ABCD
T3l TR g9 St & Iy i forar o g & »

£2a) 100 m? b) 140 m? c) 180 m? d) 200 m?

37. - The cost of paving a floor with square tiles at Rs. 7 per sq. m. is Rs. 2240. If the length of the floor
is twice the breadth, find the perimeter of the floor.

T% B R TSR TEa T B 1Td, 7 390 Ul o Hiex F1 &R |, 2240 94 71 i wf 3
TS, AeTs Bt A o, A B &1 IRTM (perimeter) I BT |

a) 64YT0m b) 86vI0m ¢) 8yT0m A) 24TOm
38. The sides of a triangle are in the ratio 1 : 2 : 2 and its perimeter is 150 cm. The area of a triangle is :

TS YA BT 1 : 2 < 2 F 30 A § R 3HHT IRAY 150 18t B 1 By 7 At © -
a) 375 cm? b) 250 cm? A 225v15 em? d) 360 V15 cm?

If a cone and a sphere have equal radii and have equal volumes, then the ratio between the height of
a cone and the diameter of a sphere is :

R TP WP R @ 7l 1 FHT B iR oI 3re 8, 6 U Ui o Sars ok 1o T
S ST ST -

\ a)1:1 b) 1: 2 \/6{2-.1 d)3: 2

40.  If a height of a cone is doubled, then its volume is increased by :
. Ife U i BT SR G PR Al 9, Gl IHHT T ¢ Wl & -
o a) 25% «B) 100% ¢) 50 % d) 75 %
il 41. If A and B are two arbitrary sets, then which of the following is correct ?

5’5’,5 X 4 3R B Y W (arbitrary) T=1 &, A PoRiRT A AP W@ 2 -
f W.  <a) AUB=(ANB)\A ¢) (AUB)E = AU B®
7% b) A4 B = (A\B) U (B\A)

39.

d) (AUB) = 4°UB
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42.

43.

44.

45.

46.

47.

48.

49,

50.

5
\e-A"= O ’
K_ s _J}ﬂ-" h\k_\:;,.f v OO CO o
(l)tﬁ = ]‘?_;. a 2 o _f f < %._ P s ——

The set { i:n =¥ 2, ks

a) closed b) open ¢) open but not closed d) neither open nor closed
I (- n = 1,2,..)¢8:

a) 9% b) el o) Tl Afd da e dy 7 Gerl A9

Two finite sets have mm and n elements . The total number of subsets of the first set is 56 more than
the total number of subsets of the second set . The values of m and n are
a’ruﬁfﬁaagauﬁmahznm%wi:ﬁﬁtﬁmgaﬁfaﬂwﬁwwmﬁa
maﬂwﬂw%ﬁ&m%l mR nd AF &

a) 5,1 b) 8.7 ¢) 6,3 d) 7,6

In a class of 60 students, 25 students play football and 20 students play tennis and 10 students play
both the games, then the number of students whvo play neither is : )

60 frenftfdl @ uEH wam A 25 Rl peata Qe & o 20 femdl g @ad & Ut 10
Waﬁ@a@aﬁﬁ.a@ém@aa@ﬂﬁaﬁﬁqﬁﬁaﬁm%:

a) 35 b) 0 ) 25 d) 45

Let f(x) = sin | x| and g(x) = cos |X [, then :

a) Both f(x) and g(x) are odd functions ¢) f(x)is an even and g(x) is an odd functions

b) Both f(x) and g(x) are even functions d) f(x)is an odd and g(x) is an even functions
Uﬁ({x}zsinlxl&ﬁ?g(x).: cosle,?ﬁ: )

a) () I g(x) TR FwH e & o 1) T A 2 IR g(x) T AwH o §
b) f(x) AR gCo) A TH B € d) f(x) W& 3R g(x) TH TH a8
The period of the function f(x) = sin*x + cos*x is :

ﬁqmmﬂaﬂtﬁﬂu@ f(x) = sin*x + cos¥x g

a)m b) 2 c) 2m d) §

a 1 =2
For what value of x, the matrix 4 = | —1 0 3 | isaskew-symmetric matrix ?
-3 0

¥ e e ¥ g, MM 4 G RAT@E U fare-aafi Afte & 2
a) -2 b) 0 c) 2 d) 3

If A =[§ ;],X = [711], B =[181]andAX = B, then the value of n is:

_[2 4 _[n I8 L
aRa=[2 4].x=[1] B =[] M ax = B, AnwrACE:
a) -2 ) 2 c) -3 d) 3
If a matrix A is such that 443 + 24 + 7A +1=0.Then A™" is:
R AR AN R 44° + 247 +7A +1=0F | TWA'R:
a) 442 +2A+71 b) —(4A% — 2A+71)\A) —(4A% +24+71) d) 4A* +2A- 7]
Choose the CORRECT answer.
a) Every scalar matrix is an identity matrix.
b) Every identity matrix is a scalar matrix. 2w l]
_~) Every diagonal matrix is an identity matrix. 1 J?
d) A square matrix whose ¢ach element is 1, is an identity matrix. - 'TH
Un 43 (

. S W £

ar 2 = e

i —
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) T el Afeaw T Ugar A &l _—
d) @ﬁmmu@aﬁﬂﬁlawqga” %]

51.  The rank of a unit matrix of order nis
oSt o i ARaw A ISR ,
ayn-1 b) n c) n dyn+1
52. The product of all the characteristic roots of a square matrix is equal to
it ﬁ@ﬁﬁ 31 gl ﬁ'@lﬂ?ﬂ TETT (characlcrlslic roots) @1 JdI& GEIERS %:
i
a) 0 b) 1 c) |A] 4 72
. 3 1 . i
53. The matrix A = [_1 2] satisfies the equation :
awa=[3, ;]Eﬂmmﬁﬂggm%:
a) A2+5A+71=0 b) A2 45A-71=0 ‘c/)A2—5A+7[=0 d) A2-5A—-71=0
54. The general solution of 1 - tan 3x = Ois:
1-tan3x = 0 HIAAAEAE . o
a) nw b) nm+3 c) nm+ D +g
= P
55.  The value of tan™? (2 cos(Zsm 15)) 4
= .41
tan™* (?.cos(Zsm 1;)) HIHA -
T T T T
a) E ) b) : C) —; Cl) —:
56. Ifcosx= %, the value of tanx-sinx is:
Tfe cos x =%,Eﬁtanx—sinxﬁ1{ﬂ:
4 4 6 8
a) 5 b) 3 c) B d) S
57. If tanl(1+x)+tan}(x—1) = tan‘1% , then the value of x is:
g tan (1 +x) +tan"H(x — 1) = tan“‘% , @l x BT -
1 1
)8 b) 3 ©) 5 & —3
s8. InaAABC,a=4b=3andZA = 60", then c is the root of the equation given below :
TF A ABCHa=4b=3 IR 2A =60, ¢ Rw T gie=w &1 7F &:
a) c2—3c—-7=0 b) 2+3c+7=0 ¢)c2—3c+7=0 d)c?+3c—-7=0
59. Ifsin (0‘. + B) = 1 and sin (C( = B) = -;-, then tan(a + ZB) tan(za + B) is equal t0:

qfe sin (a+pB)=1 3R sin (a—B) = %,_cﬁtan(a+ 2p3) tan(Ra + B) %:

a) | b) -1 c) Zero d)%
[3 ’r] ) ]] _ [a-1 e 7 ,r)
—t A2 |-12 9 AP T L 3«
-Hindi-Part-A+ }_1 ol
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sin 55 —cos 55

' The value of ————=—— s
60. sin 10 L

sin 55 ~cos 55" H1 T % :
15111 10

) % b) 2 c) V2 dy |

al number of (unctions from A to B is :

d) |4l

61. If A and B are two finite sets, then the tot

af? A 3R B3 ORI T (fnite sets) 8l AR BTD Fel
/) |BIM! b) [BIA &) |4

62.  Which one of the following is FALSE ?

a) Every set equivalent to a finite set is finite.
b) Every countable set is equivalent to a su bset of natural numbers.
c) The set of all equivalence classes of an equivalence relation on an uncountable set is always

uncountable.
d) The set of real numbers is uncountable.

ProffRa A B T ea R ?

a) URTE I & FAGe s T TR BT E |

b) mmﬁwgaumﬁﬂmqﬁgﬁn}ﬁu%ﬁm% 1 . N,
¢) U SYAR T W TP geydl qad qega a7 &1 =g IYIR |
d) arafde Sl & ey SYIARE |

63. Let f(x) = e* and g(x) = log, x. Then which one of the following is TRUE ?

a) f( i) has domain R\{0} and range is R*\{1}.

b) f(x) has domain R and range R™.
¢) f(x) and g(x) are not inverses of each other.
d) g(x) has domain R and range R* .

TR £(x) = ¥ 3R (x) = log, x, APHHAAPTWTI R ?
2) £(%) BTSAA R\(0} ¥ SR IRE RA\(1) T |

b) f(x) PISHA R EARURI R~ |

¢) f(x) 3R g(x) T GRF AHH LI B |

d) g(x) PTEHAR § IR IR |

64. The maximum number of equivalence relations on the set A = {a, b, c} are :

U A = {a, b, ¢} R TeTa1 Gaeli 1 Sidan Gee :

a) 3 b) 4 POR d) 6
65. LetA ={1,2,3,4,5}. The domain of the relation on A defined by R = {(x,y): y = 2x — 1} is given

by :

qAAINY A = {1,2,3,4,5}%1 R={(xy):y=2x-1}GRI Ry A W Gy &1 T 2

a) {1,2,3,} b) {1,2} ) (1,3, 5} d) (2,4}

66. Let A={1,2,3,4} and R be the relation on A defined by {(a,b):a,b € A, b is an even number},

then the range of R is :
TR A = (1,2,3,4) 3R R BT AT {(a,b):a,b € A, b TH T I R} g1 TR Woie 2,

a R[rangc]ﬁﬁ g ®

a) (1,2,4) 1 (2,4) ¢) {2.3,4) % 11.2.3.4)
/4 5
.r--'lf,.l - --";' . = J/'Yf/ .._,_2_—_)_'?5___: B {v‘:;E R I_(I’.'o. ”}‘é; rfé’;" {)
. — e 2 .8 o
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67.

68.

69.

70.

Ha

T2,

735

74.

75,

q*‘v\}(fﬁ{ | ,’)x‘}/x/ ,-'-'}.

-

The point of intersection of the planes x + 2y + 3241=0 x-y+z-1=0andy+z=0is:
AT x+2y+3241=0, x-y+7-1=03Ry+2z=0 FTIRADIAGR:

a) (3.2.2) b) (3.-2,2) S} (23,~2,2) dy (~3.2~9)

The shortest distance between the lines # =1+ ]+ A(21 -]+ kyand 7=20+]-k+p(3i-
5§+ 2k) is:

ol 7 =i 4]+ A@i—j+ k)R 7 =20+ ]~k +p(3t- 57+ 2k Fdad gragde:

a) 10/v59 b) 10/59 ¢) V59 d) 59

A vector of magnitude 5 in the direction opposite to the direction of 20 —3j + 6k is:
21 — 3] + 6k 1 Rz & Faudier ferm & afkemor s 1 0w Wi | -
2 1004+ 157— 30k b) — R+ -0f B Xy q0k &) -F1+30j -7k

The points on the surface z> = xy + 1 nearest to the origin are :
qA- 22 = xy + 1, WA S Apead, g e

a) (0,0,%1) ¢) (0,0,0)and (1,1,1)
b) (1,1,-1)and (-1,-1,1) d) (1,0,0) and (0,1,0)

Let F and G are two unit vectors. 1f the vectors ¥ = §+ 2Gand§ = 5P — 4q are perpendicular to
each other, then the angle between P and § is :

7 T s 5 R G2 TS WRW §1 TR AR F = p+ 20§ =55 4GTF TR P
daad € a1 § iR g g @1 B0 3

a)g bjg‘ C)E d)g

Ifthe vectors P =1i—j+2k,q =2i+4j+kandT = Ai + j + p kare mutually orthogonal, then
(A, p) isequalto:

tﬂ%%aa%b‘ —i—j4+2k,T =2i+4j+ kR 7 = Ai+j+pk IRWRS &7 F Sffdfia €,
T awe:

a) (-3,2) b) (2,-3) ¢) (-2,3) d) (3.-2)
. -1 _y-2 _z-3 - - -
?f the straight lines x—k—- = YT = z—g' and % = % = % intersect at a point, then the integer k
isequal to:
g At i, B2 e WSS MRS -
afy el ¥ 2= 2= 2 R =120 = e fig R wfoe et B e k@
a) 4 b) —4 c) 5 d) =5

The distance of the point (1, =5,9) from the plane x — y + z = 5 measured along a straight line x =
y=zis:

06 @ @ x=y=2z S Y A | @ x-y+z=5 ¥ &G (1,-59F g T
a) 3V10 b) 10v3 ¢) 3vV5 d) 5V3

A point moves so that the sum of its distances from two fixed points is a constant. What is the path
traced by this point ?

a) Circle b) Ellipse c¢) Sphere d) Ellipsoid

g?gm%aﬁaﬁ@aﬁgﬂﬁmmmmﬁnﬁiwﬁgﬁmmwm

) T b) ddgm o) Thven 3) ey

9
!

l /
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76.

78.

79.

80.

81.

82.

83.

84.

i

‘.;\'/"

Duse

The eccentricity of the curve :

T DY ST ;
2(y -1 -2(x—3)2=9
a) V3 b) V2 )2 d) -3

The conic represented by the equation is :

3x% +5y% — 10y — 2xy + 50x + 148 =0

a) Parabola b) Circle c) Hyperbola d) Ellipse
TRl gRY i T N ©

3x2 +5y2 — 10y — 2xy + 50x + 148 =0
2) g b) g ¢) BIRURET d) drfg
In 2 A ABC, DE is parallel to base BC with D on AB and E on AC. If 22 = 2, then 2 s
U& A ABCH, DE 3TUR BC & THIGR & foreH D, ABW 3R E,ACTR 2|32 Do WE R
a) - b) 3 03 a2

Let D be any point of side AC of AABC. If P. Q, X. Y are the midpoints of AB, BC, AD and DC,
respectively, then the ratio of PX and QY is :

AT dIfor f& D, A ABCH! U ACHT B g 21 af¥ p,Q, X, Y HHI: AB,BC, AD 3R DCF
7 fig @ PX 3R QYT U §: T h

a) 1:1 bj 2z 1 c)2: 3 d)1: 2

Let A ABC is a right angled triangle at A and AD L BC. Then 22 isequalto:

A WY f aaBC TS T e & Y AR fR@ ® ok ap LBCR, @ 2 RF W
T
AB\? AB)? AB AB
2 (35) b (5 ©) i RS
How many points are there on the curve x*~4y* = 1 at which the tangents are parallel to the line
x—2y=07?
b x2-4y? = 1 R foen ig & PRI R /@1 x - 2y = 0 F HAFR S 2
a) 0 b) 1 <) 2 d) 3

If A= (0,1) and B = (2, 2) are two points in the xy — plane, then the coordinates of a point P on

the x — axis such that the line segments AP and BP make the same angle with the normal to the x —
axis at point P, are :

a4 = (0,1) IR B = (2,2) WA &g xy — plane ¥, A x — 31 R v g p & Prdwis 39 yaR
%ﬁi’{@tﬁs AP 3 BP THF 10 T4 & fAg P W x - 3& & @< ¢, .

a) (0,0) b) (2.0) ) (%, 0) d) (1,0)

The foot of the perpendicular (h, k) from the origin on 3x + 4y = 25 is :

T (h, k) BT UG (foot), TS 8 3x + 4y = 25 WE,: (;A ~
a) (3,4) b) (3,25) c) (4,25) d) (-3,-4) f_%\ﬁ
The line X + y = 4 divides the line joining the points (—1, 1) and (5, 7) in the ratio : ,Sﬂ C

a) 2:1 by 1: 2 internally ¢) 1: 2 externally

A
?Aﬁ

d) 2 : 1 externally

2X2=(y2 )

(
MabsHndiPaA® g _ 9 = K( jﬁféjc k(x2)= IT page.17 o
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X x4y =4 @G (-1, DR (5,7) B iy areht Yan @) R Re mu e 7 fafe

X ¢ )

a) 2: 1 b) 1: 2 3ffafkd 0 A ) 1: 2@ FUH ) 21T FIE
85.  The shortest distance between the circles: (x — 1)+ (y+2)2=1and (x + 24 (y—-2) =415,

TA -1+ @+ 2= 1R (x+2)* + (y-2)° =4 % T gaR F9 g e
a) 4 b) 3 c) 2 dy !

86. The length of a Latus Rectum of an ellipse 16 x? + 25 yz = 400 (in units) is :
AT 16x2 + 25y7 = 400 ¥ us Acy Yan F A (3R M
a) = b) = /©) = dy =
16 5 5 32

87. If X is a standard normal random variable, then the variance of X is :

ufaxwmm??%asm%,?hx &1 TR (variance) & :
) 1

a) 0 c) 2 dy 3
88. The expectation of the number on a dice when thrown is :
TE TR &) e IR G B 3T R
/a) 1.0 b) 1.5 c) 2.3 d) 3.5

89. If X and Y are independent Poisson Variables such that P(X=1)=P(X=2) and
P(Y = 2) = P(Y = 3). The variance of X- 2V is:
afe x SRy @ ufe T Nuea & MWFB P =1 = P(Xx =2) MMP(Y =) = P(¥ =3) g
X -2 BTURRUE
a) —10 b) —4 c) 8 d) 14
90. There are four hotels in a town. If 3 men checks into the hotels ina day then what is the probability
that each checks into a different hotel ?

@ PR AIRBCA 5l AfA3 aﬁﬁ?@ﬁ?ﬁ@eﬁﬁ%ﬁﬁ%%iﬁuﬁa%ﬁﬂaﬁﬂ%

FAFTA P A RS ?
1 3 4 3
03 A 3 )3 93
91. If P(AUB) = 0.83,P(A) = 0.3and P(B) = 0.6. then the events will be :
a) Independent ¢) Both dependent and independent
b) Dependent d) Mutually exclusive
af P(AUB) = 0.83,P(A) = 0.3 R P(B) = 0.6, T gift:
a) WaA b) Mf3d o) o R WA gl d) TR AT
92. A bag contains 3 white and 5 black balls. One ball is drawn at random. Then, the probability that it
is white is :
waﬁﬁammsﬂsﬁﬁéé‘lwﬁamﬁ‘mmamm%r P, 9%
b B B WRH ¢ :_
%)
2) - b) 2 & = d) 3 .
93. The difference between the greatest and the least value of observations is called :
‘ a) Variance b) Standard deviation ¢) Mean deviation ‘/d/)ARange
‘ D&[U (observations) ¥ ST AR T 7 & 1 & 3R B PEI I
a) Afka( b) BUeE A o) AAIMTEH 9 W
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— 2 =
94.  In a binomial distribution, mean = 10 and varianece = 9, then the number of trials is
U fgug [ (binomial distribution) o, {1t = 10 3R FA=RT (variance) = 9 B, &1 uhegurf (1rials)
GHR:C i
a) 100 b) 10 89 #.49
95. The variance of the data 1,3,5,7,9 is :
1,3,5,7,9 HHS SIUWI__ T |
a) 5 b) 6 ) 7 d) 8
96. The mean and standard deviation of 100 items are 50, 5 and that of 150 items are 40, 6 respectively.
What is the combined standard deviation of all 250 items ?
100 TG BT TG AR AP fIGeH (standard deviation) FHH: 50,5 R 150 GRGAT BT 40,
6 1 T+t 250 fﬂ'ﬁﬁ'ﬁ & Ygad AFND faa@ (standard deviation) T %
a) 7.1 b) 7.45 c) 8.45 d) 8.1
97. A researcher selects a probability sample of 100 out of the total population. It is a :
a) cluster sample b) random sample ¢) systematic sample d) stratified sample

TH WY A oGS F § 100 S Wiedd! T BT TG99 T &1 Tg & 0P
a) TR THAT b) TRfBS T o) ARG T d) Rfefeus T

98. If the mean of the observations x,Xx+ 3,x+5,x+ 7,x+ 10 is 9, the mean of the last three
observations is :

e Ve x,x +3,x+5,x+ 7,5+ 10 & e 9 B, sifem fi7 Rarolf 31 7087 3

i e L Sy T 02 )
99.  The standard deviation of 9, 16, 23, 30, 37,44, 51 is : E T\
9,16,23,30,37,44, 51 &I A a1 8: ‘fs\ ﬁ\/ff,J
a) 16 b) 12 ¢) 14 49 7c¢!
100. Ifx+y< % x = 0, y = 0, the point at which maximum value of 2x + 3y is attained at : ,;3
TRx+y <L, 220, y 2 0,78 g RRITR 2x + 3y BT ificwan ea A T, 2 - gkw,%‘/é{ ‘s
2) (5, 0) A (0 3) 9G 3 2 DO \
' "ﬁ’ﬁlgﬁz Q}/L”\
cxr af =S CoOw
o .9"@ Space for Rough Work ™ @
g\ - RSN e f“J” " g
43?3 af @ ¢ Ses 40 o= s
Ggy\ 2 'q( 3 q ﬁ‘? Q.'E‘l
|
ol » S ‘*L‘f\lb\’a a2* A g’f
. ;
n e oy 1l ") %'/féj*f? 3¢ 409 ‘T}j
A, —— @; NAY = 7@
) A | ! fj‘-.'.\
> r -\} \.\
" \b\{’} : o o
Lo 70y T Q ’%&;
Malﬁﬁ-ﬁi&i-?arl-hB o Yl ; ‘1“}/.«; - ;:L\ Page- 19 ?-l [ :



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page


